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ENTRANCE EXAMINATIONS, FEBRUARY 2015
IMA: HINDI/LANGUAGE SCIENCE/TELUGU

PART - A: HINDI OBJECTIVE TYPE QUESTIONS
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ENTRANCE EXAMINATION, FEBRUARY 2015
IMA : HINDVLANGUAGE SCIENCE/TELUGU

PART - A: LANGUAGE SCIENCE OBJECTIVE TYPE QUESTIONS

Hall Ticket No. Max. Marks: 40
6 Most Indians speak a language belonging to the family of
A. Munda B. Dravidian C.Tibeto-Burman D. Indo-Aryan
2 Rabindranath Tagore's Gitanjali is originally written in
A. English B. Nepali C. Bengali D. Hindi
3. Telugu isa language.
A. Indo-Aryan B. Tibeto-Burman  C. Dravidian D. Austro-Asiatic
4, Which of the following languages is not én Indian language ?
A. Tulu B. Brahui C. Mundari D. Meitei
- is the Official Language of a State in Western India.
A. Meitei B. Marathi C. Kannada D. Maithili
6. | is the language mainly spoken by the people of Jammu region.
A. Bodo B. Dogri C. Konkani D. Maithili

7. Urdu is the Official Language of the State of

A. Telangana B. Bihar C. Uttar Pradesh D. Jammu & Kashmir
8. Khasi is a language spoken primarily in the State of in India.

A. Mizoram B. Jharkhand C. Meghalaya D. Nagaland
9. Ol Chiki is a of the Santhali language.

A. Dance B. Script C. Clan D. Dialect
10. is the language primarily spoken in the Indian State of Tripura.

A. Kokborok B. Nepali C. Tamang D. Newari
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12

13

14.

15.

16.

17,

18.

19:

20.

21

22

People in the North Eastern region and near the Myanmar border speak

languages.
A. Dravidian B. Tibeto-Burman  C. Indo-Aryan D. Munda
The Schedule to the Indian Constitution contains a list of scheduled

languages of India.
A. Sixth B. Eighth C. Seventh D. Ninth

is the tactile writing system used by visually challenged people.

A. Devanagari B. Brahmi C. Braille D. Abugida
Punjabi is written in script.
A. Gurmukhi B. Brahmi C. Devanagari D. Khojki

is the ability to master multiple languages.

A. Polysynthesis B. Polyglotism C. Polymathematism  D. Bilingualism
The English orthography has vowel leﬁers.

A. five B. four C. three D. six
Devanagari is the modern descendant of script.

A. Kharosti B. Brahmi C. Nagari D. Arabic

is the most popularly spoken language in the world.
A. Hindi B. Spanish C. English D. Mandarin
There are number of Indian States that have Hindi as Official Language.
A. eight B. nine C. seven D. ten
Sound is produced by expelling air from the
A. larynx B. liver ‘ C. lungs D. pharynx

is the default mode of language in all cultures.

A. Writing B. Speaking C. Reading D. Gesture

does not directly deal with words.

A. Dictionary B. Thesaurus C. Etymology D. Encyclopaedia
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24.
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28.

29,

30.

3L

A. Interaction B. Touching C. Gestures
This is not one of the Classical languages of India.
A. Telugu B. Tamil C. Odia

English is an Official Language of the state of

is an example for non-verbal communication.

D. Posture

D. Marathi

A. Pondicherry B. Nagaland C. Goa

The first printing press in India was set up at

D. Jarkhand

A. Delhi B. Goa C. Pondicherry
Which of the following statements is most appropriate:

A. language is essential for all species

B. language is not a genetic make-up of humans

C. language is considered universal to all species

D. language is considered unique to humans

Which of the following statements is true about languages?

D. Madras

A. All languages use essentially the same number of sounds.

B. All languages have vowels.

C. Native speakers of a language learn the basic rules of grammar in school.

D. Different languages may use different sounds, but share
Which of the following statements is true of language?

A. If languages do not have similar sounds then you cannot
B. Languages have only logical rules.

the same syntax.

learn.

C. Native speakers do not have to memorize all possible sentences.

D. None of the above

One of the following is not a natural language.

A. Sanskrit B. Esperanto C. Hebrew
Arrange the words given below in an appropriate order:
1. Word 2. Paragraph 3. Sentence

A. 415,23 B. 4,1,3,5,2 C.4,25,1,3

D. Burushaski

4. Letters 5. Phrase

D.415,32



32.

33

34.

33:

Examine the following words from Michoacan Aztec,

Which of the following statements is true?

A. If you cannot speak a language you cannot think.

B. If you can speak one language you can also learn another
C. One cannot think if he/she cannot speak a language.

D. If you can speak a language you cannot write it

Human beings have the ability to speak any human language because

A. they share the same sounds

B. they are born on the same planet
C. they share the same sensory organs
D. they share the same speech organs

What is lost when a language dies?

A. knowledge about the natural world
B. medical knowledge

C. cultural traditions

D. all of the above

Most Indian languages have the word order

A. verb - subject — object
B. subject - object - verb
C. subject - verb — object
D. object - verb - subject

the questions that follow:

36.

3L

a. [nokali] ‘my house’ f. [mopelo] ‘your dog’

b. [nokalimes] - ‘my houses’ g. [mopelomes] ‘your dogs’

¢. [mokali] ‘your house’ h. [ikwahmili] ‘his cornfield’
d. [ikali] ‘his house’ i. [nokwahmili] ‘my cornfield’
€ [nopelé] ‘my dog® J- [mokwahmili] ‘your cornfield’

What is the corresponding form of 'house' in Michoacan Aztec?
A. okali B. ali C. kali D. li
What is the corresponding form of 'dog' in Michoacan Aztec?

A. opelo B.lo C. pelo D.elo

a language of Mexico, and answer



38.  What is the corresponding form of 'his' in Michoacan Aztec?

Al B. no C. ika D. ik
39.  What is the English translation for the Michoacan word [ipelo]?

A. my dogs B. his dog C. my dog D. his dogs
40.  How would you say ‘his cornfields’ in Michoacan?

A. [nokwahmili] B. [ikwahmilimes] C. [ikwahmili] D. [kwahmilimes]

ke

nd answer
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ENTRANCE EXAMINATION, FEBRUARY 2015
IMA: HINDI / LANGUAGE SCIENCE/TELUGU
PART - A : TELUGU OBJECTIVE TYPE QUESTIONS
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ENTRANCE EXAMINATION, FEBRUARY 2015
IMA: HINDI/LANGUAGE SCIENCE/TELUGU

PART - B: ENGLISH OBJECTIVE TYPE QUESTIONS
(Questions 41-75)

Hall ticket number: Max Marks: 35

In questions below(41 and 42), each passage consists of six sentences. The first and sixth

41,

42,

43.

sentences are given. Decide the proper order of the other four sentences and choose
from the sequences given as options.

S1: Jawaharlal Nehru was born in Allahabad on 14 Nov 1889.

P : Nehru meet Mahatma Gandhi in February 1920.

Q : In 1905 he was sent to London to study at a school called Haroow.

R : He became the first Prime Minister of Independent India on 15 August 1947.
S : He married Kamla Kaul in 1915.

S6: He died on 27 May 1964.

The proper sequence should be:
A. QRPS B. QSPR C.RPQS D. SQRP

S1: Duryodhana was a wicked prince.

P : One day Bhima laughed when Duryodhana fell from a tree while stealing fruits.

Q : He did not like the fact that Pandavas were loved and respected by the people of
Hastinapur '

R : Duryodhana specially hated Bhima.

S : Among the Pandavas, Bhima was extraordinarily strong and powerful.

S6: This enraged Duryodhana so much that he began to think of taking revenge on
Bhima.

The proper sequence should be:

A.PSQR B. QPRS C. QSRP D. PSRQ

The sentence below has a word or a phrase in bold. It is followed by four words or
phrases. Select the word or phrase which is the closest OPPOSITE in meaning of the
bold word or phrase.

The members thought that the task was feasible.

A. impractical B. impossible C. difficult D. impracticable

17



Pick out the most effective words from the given options to fill in the blanks to make the
sentences below (Questions 44 - 60) meaningfully complete:

44. The greedy miser gazed at the pile of gold coins in front of him. He just
loved gold!
A. bravely B. admiringly C. thoughtfully D. earnestly
45. 1 dfove and hit the pavement. |
A. fast B. speed C. fastly D. rash
| 46. | Success in this examination depends hard work alone.
A. at B. over C. for D.on

47. My uncle decided to take ...... and my sister to the market.

Al B. mine C.me D. myself
48.  Mary had a little lamb, fleece was white as snow.
A.it’s B. its C.itis D. their

49.  Rohan and Rohit are twin brothers, but they do not look
A.unique B. different C. likely D. alike

50.  That shopping bag is reusable.

A. Throw the shopping bag away, we won’t need it again.

B. Don’t throw away the shopping bag because we can use it again.
C. If we throw the shopping bag, we cannot use it again.

D. None of these

51. Igotoschool __ Mondays 7 o'clock.

A. at/in B. at/to : C. in/at D. on/at
52. Wedon't have apples left in the fridge.

A. some B. any C. much D. afew
53.  1got good marks but they are than what Susan got.

A. small B. lesser C. less D. little

18



54.

55.

56.

57.

58.

59.

60.

61.

Sofia passes the examination depends on her grade on the
final essay.

A. Both/and ‘ B. Not only/but also

C. Hardly/when D. Whether / or not

Though I asked around, no one was quite sure it took to get to the next
town.

A. how far B. how long C. how often D. how many

I took a pencil and edited the text by crossing all the unnecessary
sentences.

A.up B. out C. at D. down

Ravi said that it was a lie and he blamed Ali for making the whole story.
A.up B. out C. over D. on

My goal is to become a doctor: I work very hard in my science classes.
A. therefore B. but | C. however D. nevertheless

1 won’t be able to buy that car I have paid off some debts.

A.s0 ' B. and C. until D. but

The age at which the first tooth appears differs greatly from child to child. Very
occasionally, children are born with one or more .

A. teeth B. tooth C. teeths D. none of the above
cars are better-German ones or Japanese ones?

A. What B. How C. Which D. Whose

Spot the errors in the sentences (Questions 62 and 63) given below:

62.

63.

He was quite amusing when he heard what had hap' pened.

A. was B. amusing C. heard D. had happened
I saw the blind man crossed the busy road without any help.

A. saw B. crossed C. without D. any

19



Fill in the blanks in the sentences below (Questions 63 and 64), choosing from the
options given:

64.  The film wasn’t . Tt was too sentimental. I prefer comedies.
A. my bag of tea ' B. my sort of tea
C. my cup of tea D. my kind of tea
65. Ii’é not completely in there are a few things that need explaining.
A. green and red | B. blue and black
C. black and white D. white
- 66.  Hurry up. We don’t havg lot of time.
A. the B. an C.a D. no article
67. Thisis unique coin.
A. the B. an C.a D. no article
68.  Yesterday __the first day of my vacation.
A.was B.is C. has : D. been
69. Raveena __ the report before I met her.
A. is finishing B. finish
C. has finished D. had finished

70.  Read the sentence below carefully and choose its meaning from the options given
below:

She requested her friend to keep it to herself.
A. She requested her friend not to tell anyone.
B. She requested her friend not to give anyone.
C. She requested her friend to stay there.

D. She requested her friend to place it near her.

Choose the right option to form correct sentences (questions 71-75)

71.  Whata day

A. . (full stop) B. ! (exclamation mark)
C. ? (question mark) D. —(dash)

72.  IfIhad the choice I study in Hyderabad.
A. would B. might C. could D. should

20



73.

74.

75.

If you want to get this sum right you have to 10,000 from 15,000.

A. minus B. negate C. deviate D. subtract
I am carrying a heavy bag, so give me books.
A. less B. fewer C. little D. some
Don’t speak harshly to him now. He is in a state of mind. He might harm
himself.
A. vulnerable B. convincing C. courageous D. visible
%k 3k
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ENTRANCE EXAMINATION, FEBRUARY 2015
IMA: HINDI/LANGUAGE SCIENCE/TELUGU

PART - C: GENERAL KNOWLEDGE AND CURRENT AFFAIRS

Hall Ticket No. 4 Max. Marks: 25

76 Who receives Dronacharya Award?

A. Scientists B. Movie actors C. Sports Coaches  D. Sportsmen
77 In which year India Joined the United Nations?

A. 1954 B. 1955 C. 1956 D. 1957

78. It is not advisable to sleep under a tree at night because of the

A. Release of oxygen in lesser amount
B. Release of oxygen in larger amount
C. Release of carbon monoxide
D. Release of carbon dioxide
79.  Ajanta Caves are located in the State of
A. Maharashtra B. Gujarat C. Tamil Nadu D. West Bengal

80. Who invented the wireless remote control?

A. Frank Nesso B. Alexandre Alexeieff
C. Robert Adler D. Ami Argand

81.  Who invented the FM radio?

A. Edwin Howard Armstrong B. Edward Henrik Armstrong
C. Louis Theroux D. Adam Anter

82.  What is the national currency of Australia?

A. Australian pound B. Australian dollar
C. Australian euro D. Australian renmin
83. * Cairo is the capital of which country?

A. Georgia B. Haiti C. Iceland D. Egypt
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8s.

86.

87.

38.

89.

90.

91.

92.

93.

Tehran is the capital of which country?

A. Iraq B. Iran C. Kenya D. Kosovo
Which dynasty did‘ Samrat Ashoka belong to?

A. Chalukya B. Maurya C. Chola D. Gupta
Which of the following countries is not a-member of SAARC?

A. Nepal : B. Bangladesh C. Afghanistan D. Myanmar

The words 'Satyameva Jayate' inscribed below the base plate of the emblem of India
are taken from

A. Rigveda B. Satpatha Brahmana
C. Mundaka Upanishad D. Ramayana

Who composed the famous song 'Sare Jahan Se Achha'?

A. Jaidev B. Mohammad Igbal
C. Bankim Chandra Chattopadhyay D. Rabindranath Tagore

Devendra Fadnavis is set to become the first BJP Chief Minister of which State?

A. Haryana ' B. Maharashtra
C. Delhi D. Himachal Pradesh

Who was appointed as the new Chairman of the Prasara Bharti Board on 28 October
2014 for a term of three years?

A. Jawhar Sircar B. Bimal Julka
C. Surya Prakash D. None of these

International Internet Day was observed globally on?

~ A. 30 October 2014 B. 29 October 2014

C. 28 October 2014 D. 27 October 2014
Who among the following been proposed Bharat Ratna for’the‘year'2014-l 5?

A. Prof. C.R. Rao ) B. Atal Bihari Vajpayee
C. Sardra Vallabh Bai Patel D. Sarvepalli Radha Krishnan

Nation paid homage to which leader on his 64th death anniversary on 15 December
20147

A. 1K Gujaral B. P V Narasimha Rao '
C. Bal Gangadhar Tilak D. Sardar Vallabhbhai Patel
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94.

95.

96.

97.

98.

99.

100.

Who was appointed as the new Australian Cricket Captain on 15 December 2014?

A. George Bailey B. Steve Smith
C. Brad Haddin D. David Warner

What is the theme of the new Government of India calendar 2015 launched recently?

A. Incredible India B. Financial Inclusion
C. Atithi devo bhava D. Clean India, Green India

Which among the following flights was disappeared from the sky above the Java sea?

A. Air India _ B. Air Malaysia
C. Air Asia D. Air Australia

Who won the Nobel Peace Prize for the year 2014-157

A. Nelson Mandela & Mother Teresa

B. Kailash Satyarthi & Malala Yousafzai -

C. Mother Teresa & Kailsh Satyarthi

D. Yasser Arafat & Malala Yousafzai

Which of the following States that is added to the Indian Union on June 2,2014?

A. Andhra Pradesh | B. Chhattisgarh
C. Telangana D. Jharkhand

Which of the following Parliamentary constituencies was retained by the Prime
Ministerial candidate Mr. Narendra Modi who won from two constituencies during
2014 elections?

A. Vadodara B. Gandhinagar
C. Rajkot ) D. Varanasi

Which player succumbed to injury recently in a cricket match?

A. Philip Hughes B. Robert Hughes
C. Raman Lamba D. Wilf Slack

kK
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